
9/17/2020 QXi]: The QXesW

hWWps://bcoXrses.berkele\.edX/coXrses/1499730/qXi]]es/2325289/Wake?preYieZ=1 1/8

The Quest

ċ This is a preview of the published version of the qui]

Started: Sep 17 at 9:02pm

Quiz Instrucঞons
The Quest is open book. You are allowed to use any lecture/course notes, homeworks, discussions, or
websites (except those for collaborative documents or forums). In addition to this, we will allow the use of a
calculator and a Python File or Notebook. You may not access or post on any collaborative documents (e.g.
Google Docs) or forums (e.g. Chegg). CRllabRUaWiRQ ZiWh RWheU VWXdeQWV iV SURhibiWed.

Assuming you do not have an approved time extension, you will have 30 minutes to complete the Quest and
you may begin the Quest at any point during the window of 7:10-8:00 pm. However, the Quest will close at
8:00 pm, meaning that you must start by 7:30 pm to have the full 30 minutes. We aUe QRW ZRRm SURcWRUiQg.

We will not clarify anything during the exam so please do your best with the information provided. If you have
an issue during your exam please email us at eecV16b-fa20@beUkele\.edX (mailWR:eecV16b-
fa20@beUkele\.edX) and CC the professors (VeWh.VaQdeUV@beUkele\.edX (mailWR:VeWh.VaQdeUV@beUkele\.edX)
and mlXVWig@eecV.beUkele\.edX (mailWR:mlXVWig@eecV.beUkele\.edX) ).

Good luck!

4.5 SWVQXeVWiRQ 1

Given the following circuit, 

with R=1ȍ, V1 = 2V, V2 = 1V.
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1) The absolute value of current through the resistor is Œ SeѴec| œ

Amps.

2) The power Œ SeѴec| œ  in R is Œ SeѴec| œ

Watts.

3) The power Œ SeѴec| œ  in  V1 is Œ SeѴec| œ

Watts.

4) The power   Œ SeѴec| œ  in  V2 is Œ SeѴec| œ

Watts.

 

An in�eu|eu in |hiv t�evঞon iv a de�ice fou �hich
VinƷƏV �iѴѴ uev�Ѵ| in Vo�| Ʒ Vddķ and fou Vin Ʒ Vdd
�iѴѴ uev�Ѵ| in Vo�| Ʒ ƏV
 

Fou each of |he foѴѴo�ing ciuc�i|vķ de|eumine if |he
ciuc�i| iv an in�eu|eu ou no|ĺ 
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No

Yes

Is following circuit  an inverter?

 

1.5 SWVQXeVWiRQ 3

Is following circuit  an inverter?

•
-
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No

Yes
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Is following circuit  an inverter?

•
-
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No

Yes
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Is following circuit  an inverter?

•
-
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Yes

No
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Consider the following circuit, with a transistor switch model (Transistor is a short circuit
for Vgs >=Vth and open circuit for Vgs < Vth):

•
-
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RefeUeQce CiUcXiW

 

Below are several circuits:

 

Answer the following questions:

1) Circuit [ Select ]  is an equivalent circuit with the same Vout as

the reference when Vin < Vth

2) Circuit [ Select ]  is an equivalent circuit with the same Vout as

the reference when Vin >= Vth

:
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Qui] saved at 9:03pm  

The q�evঞonv beѴo� aue opঞonaѴķ  �i|h no cuedi|
ŐĴő
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 What ..... is your name?

It is  , King of the Britons.

What ..... is your quest?

 . (5 words)

What... is the air-speed velocity of an unladen swallow?

What do you mean? An  or  swallow?

 

 

 

 

S�bmi| Q�i�

Arthur

To seek the

Holy Grail

African European


